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CHRONOMATH 6

n200+200= n500 +... = 1000
n5x5= n110+90=...
12x10= m30x20=...
nDoubIe de 20 :... m458+9=...
ﬂ14+14=... H7+7+7=
n 1400+500= ... m4000+78 = ..
164—3= DoubIe de15:.
n7200 +7 = ... m140- .. =132
n6x7= ESX. =35
m8x7= ﬂ250+350=...
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361x10=...

250x 20 =...

142 x ... = 1420

1253 +19=..
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Doublede 32 : ...

.. —40=1410

4230 -50=...
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n200+200= n500 +...= 1000
n5x5= n110+90=...
12x10= 30x20=...
nDoubIe de 20 :... m458+9=
H14+14=... m7+7+7=
n 1400+500= ... m4000+78 = ..
164—3= Double de15:.
n7200 +7 = ... m 140-..=132
n6x7= HSX =35
n8x7= m250+350=...
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CHRONOMATH 6 : reponse
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B 28 @ 21 g 793
g 1900 gg 4078 gy 49
161 30 64
B 7207 g 8 [ 1450
B 2 g 7 B 4180
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